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3 point problems (Oéuata 3 uovadwv)

1. Which tile is completes the figure?
Molo KoppaTL oAoKANPwWVEL TO HOTiRO;

(A) D (B) G Q) E (D) m (E) ﬂ

2. Which pair of colored squares are identical? You are allowed to turn the squares.

Moto {eLyog XPWHATLOTWY TETPAYWVWYV gival idla petafl Toug. Ta TETPAYWVA UIMOPOUV VA KAVOUV

otpodn.
4 5 6

(A)1& 3 (B)3& 6 (C)3&4 D)1& 4

3. A large square consists of small white and grey squares.
‘Eva peyAAo TeTpAywVo amoteAsital anmd Pkpa AeUKA Kat YKkpila TeTpaywva.

What does the large square look like if the colours are interchanged?
TL HOLATEL PE TO LEYANO TETPAYWVO AV TA XpWHATA EVAAAACCOVTAL,

(A) B) (C) (D) (E)

(E)1& 6
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4. Mikas wants to bake 24 muffins for his birthday party. To bake six muffins two eggs are needed. Eggs
are sold in boxes of six. How many boxes does Mikas need to buy?

O MudaAng B€AeL va Pnoet 24 yAuka yla To maptt yeveBAiwy Tou. MNa va Pnbouv £EL yAuka xpeLalovral
600 avya. Ta auyd mTwAoUVTOL 0 KOUTLA TwV £EL. Moo KOUTLA Xpeldletal va ayopaosl o MIXaAng;

(A)1 (B)2 (C)3 (D)4 (F)8

5. Flora reflects the letter F about the two lines shown. L .What will the reflections look like?

H OAwpa avtavakAd to ypaupa F yopw amo tig Suo gubeieg omwg paivetal. L

Nwg Ba dpaivovtal ot avtavakAdoeLg;
FlLoFL e[ 3 3
(A) E (B) F (C) Iﬁ' ﬂ En

(D) (E)

6. Kim has several chains of length 5 and length 7. By joining chains one after the other, Kim can create
different lengths. Which of these lengths is impossible to make?

H Katia £xel apketég aAuoideg pnkoug 5 kat pnkog 7. 2uvdualovtog aAluciSeg pia petd tnv aAAn, n
Katia propei va dnpovpynoet Stadopetikd pikn. Molo amodé autd ta uAkn ival advvaro va
dnuoupynBei ;

esseses
)
(A)10 (B)12 (C)13 (D)14 (E)15

7. Maria has 10 sheets of paper. She cuts some of the sheets into five parts each. After that Maria has
22 pieces in total. How many sheets did she cut?

H Mapia €xeL 10 pUANa xaptTiou. KOPel peptkd amo ta puANa o méEvte Pépn To KaBéva. Metd and autd
n Mapla €xel UVOALKA 22 Koppdtia. NMooa GpUANA KOTINKAY;

(A)3 (B)2 (C)6 (D)7 (E)8
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8. Cindy colours each region on the plate with either red, blue or yellow. She colours neighbouring
regions with different colours. She colours the outer ring of the plate blue. How many of the regions will
be blue in the end?

H Cindy xpwpartilel kaBe TepLo)r) TOU TLATOU LE KOKKLVO, UITAE 1 KITPLVO XpwHa. XpWHATIEL YELTOVIKEG
TIEPLOXEC e SLadopeTIKA XpwHaTo. XpwHatilel To e€wTepLkod SaxTUALSL TOU TILATOU e UITAE XPWHL.
Moéoeg anod tig meploxeg Oa eivat pmAe oto TéAog;

(A)2 (B)3 (€4 (D)5 (E)6

9. Four baskets contain 1, 4, 6 and 9 apples respectively. How many apples do we need to move among
the baskets in order to get the same number of apples in each basket?

Téooepa kahaBia mepLéxouy 1, 4, 6 kal 9 unAa avriotowa. Mooca pRAa xpelalOUOOTE Yo va
peTakvnBoULV petafd Twv KaAaBLwy, WoTe va €XOULE ToV 1610 aplBpd pnAwv os kabe KaAddy;

(A)3 (B4 (5 (D)6 (E)7

10. A dog and a cat walk in the park along the path marked by the thick black line. At the same time, the
dog starts from P and the cat from Q. If the dog walks three times as fast as the cat, where are they
going to meet?

‘Evag oKUAOG KOl Lol YOTO TIEPTIOTOUV OTO TIAPKO KOTA HKOG TNC SLASPOUNG TTOU CNUELWVETAL LE TNV
XovTpn palpn ypappn. Tautoxpova, o oKUAOG Ekva oo To P Kal n yata amno to Q. Av To OKUAL
TIEPTIATAOEL TPELG POPEG TILO Ypriyopa arod tn ydrta, mou Ba cuvavinbouy;

4%
a f¥°

i

gl

P D

At/oto
(A)A (B)B (C)C (D)D (E)E
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11. The numbers from 1 to 10 have to be placed in the small circles, one in each circle.

Numbers in two neighbouring circles must have the same sum as the numbers in the two diametrically
opposite circles. Some of the numbers are already placed. What number should be placed in the circle
with the question mark?

Ot aplBpot amnd 1o 1 £wg to 10 mpémel va tonoBetnBouv oToug PIKPoUG KUKAOUC, £vav o€ KaBe KUKAO.
Ot aplBuot o U0 yeltovikoUg KUKAOUG TTPETEL va €X0UV TO 1810 dBpolopa pe Toug aplBuolg otouc SUo
SlLoETPLKA amévavTl KUKAouG. Mepikol amo toug aplBuoucg eival nén tonoBetnpévol. Molog aplBpog
TPEMEL va TooBeTnBel 0TOV KUKAO HE TO EPWTNUATLKO ?;

(A)3 (B)4 (C)6 (D)7 (E)8

12. When the bat Elyse leaves the cave a digital clock shows 20:20
When Elyse has come back and is hanging upside down she sees 2l:20 again.
How long has she been hunting outside the cave?

(A) 3 hours, 28 minutes
(B) 3 hours, 40 minutes
(C) 3 hours, 42 minutes
(D) 4 hours, 18 minutes
(E) 5 hours, 42 minutes

Otav n vuyxtepiba EAlZa eykataAeinel Tn onnALd, éva Pndlako poAol deixvel 20:20
Otav o EAlla eméotpePe Kal KpEpeTal avanoda BAETeL 202l rén
Mo téoo xpovo Kuvnyouoe €€w amo Tn OMNALA;

(A) 3 wpeg, 28 Aemtd
(B) 3 wpeg, 40 Aentd
(C) 3 wpeg, 42 Aemta
(D) 4 wpeg, 18 Aemtd
(E) 5 wpeg, 42 Aentd
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13. An elf and a troll meet. The troll always lies, while the elf always tells the truth. They both have just
said one of the following sentences: which one?

‘Evag EwTko Kal évag yiyavrog cuvavtiouvtal. O Myavta avra Aéet PEpata, evw To EWTIKO TTavTa Al
oAnBeta. Kat ot 500 HOALG £XOUV TEL pia Ao TIC 0KOAOUOEG TIPOTATELG: TIOLQ,;

(A) I am telling the truth (Aéyw tVv aAnBela)

(B) You are telling the truth (Aéyelc tnv aAnBela)

(C) We both are telling the truth (Aéyoupe tnv aAnBela kat ot Suo pag)

(D) I always lie (mavta Aéyw Pépata)

(E) One and only one of us is telling the truth (évog kat povo €vag anod epdg AésL tnv alnBela)

14. Mary has exactly 10 white cubes, 9 light grey cubes and 8 dark grey cubes, all of the same size.
She glues all these cubes together, to build a big cube. Which of the cubes below can be the one she
built?

H Mapia €xet akptBwg 10 Aeukouc kUBouC, 9 avolkTou YKpilou xpwpatoc KUBoUG Kal 8 okoUpoug
VKpiloug KUBoug, oL omoiol £xouv To (6lo péyeboc.

KoAAnoe 6Aoug autoug toug KUBouUG padl yla vo KATAOKEUAOEL Eva eydAo KUBO. MoLog amo toug
TIOPAKATW KUBOUC pmopel va gival o KUBOG Tou KATAOKEVO.OE;

(A)ﬁ (B)@ (C)@ (D)@ (E)@

15. There are five paths from X to Y marked with the thick line. Which one is the shortest?
YTdpXouV MEVTE LOVOTATLA ATt TO X 0TO Y TTOU GELWVOVTOL e TNV Xovdpn ypappn. MNoto sivat to
MLKPOTEPO OE UAKOG;

(A)@ (B) E (C) f (D)@ (E)@

16. A father kangaroo lives with his three children. They decide on all matters by vote, and each
member of the family gets as many votes as its age. The father is aged 36 and the children are 13, 6 and
4 years old, so the father always wins. How many years will it take for the children to win all votes, if
they all agree?

‘Eva kaykoupo matépag (el he Ta tpia madid tou. Anodacilouv oAa ta Bépata pe Pndodopia, kat
KABe LENOC TNG OLKOYEVELAG TTalpVeL 60eC Prdoug €xel TNV nALkia tou. O matépag eival nAkiag 36 eTwv
KoL Ta TtadLd elvat 13, 6 ka4 €Twv, onote o matépag kepdilel mavra. Nooa xpovia Ba MApeL yla Ta
naldLa va kepdioouv 0Aeg g Yndodopieg, av cupdpwvolv dloy;

(A)5 (B)6 (C)7 (D)13 (E)14
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17. Giorgio has two equal pieces of wire of shape \_
Which of the following shapes cannot be obtained putting together these two pieces?

L

O Mwpyog €xet Vo oA KOPPATIA CUPUATOC OXNOTOC. \_
Molo amod Ta MAPAKATW oXNuota dev unopet va katookeuaotel Balovrag pall autd ta SU0 KOUUATLO;

(A)I:j (B)H (C)H (D)D_lj (E)|j_|_E|

18. Amy glues 6 stickers on the sides of a cube: She shows the cube to her friend (see picture).
Which sticker is on the face opposite to the mouse?

H Amy KOoAAG 6 aAUTOKOAANTA OTLG MAEUPEC eVOC KUPBoU: Agixvel Tov KUBo otov dilo tng (BA. Ewkoval).
Moto autokOAANTO £ival otnv £6pa amévavtL arnod To MoVTiKL;

ol Tk

S
w :..- \
(A) (B)@ © = ) M () H89
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19. The following scheme shows the friendship among Ann, Beatrice, Chloe, Diana, Elisabeth and Fiona.
Each number represents one of the girls and each line represents a friendship between two girls.

Each of the 3 girls Chloe, Diana and Fiona has four friends. Chloe and Diana are both friends of Beatrice.
Beatrice has no other friends. Which number represents Fiona?

To napakdtw oxnua Seixvel tn d\ia peta Ann, Beatrice, Chloe, Diana, Elisabeth kat Fiona. KaBe
opLBUOC avTUTPOoWIEVEL £Va OO Ta Kopltola Kal KABE ypapur avimpoowrnevel pa Glia petat dvo
Kopttowwv. Kabe pia amno tig 3 konéheg Chloe, Diana kat Fiona €xel téooeplg dpiloug. H Chloe kat n Diana
elvat kat oL U0 Ppilol tng Beatrice. H Beatrice dev €xel dAAoug dilouc. Molog aplBudg avimpoownevel
tn Fiona;

._\_ J

(A)2 (B)3 (G4 (D)5 (E)6

20. Mary put the same amount of liquid in three rectangular vessels. Viewed from the front, they seem
to have the same size, but the liquid has risen to different levels in the three vessels. Which of the
following images represents the three vessels viewed from above?

H Mapia £¢Bale tnv (6la moooTnTA LYPOU Ot TPia opBoywvia Soxela. Mapatnpwvtag and Unpootd,
dalvovtal va £xouv to (610 péyebocg, aAAd To uypod £xel avePel o SladopeTikd enineda ota Tpia
Soxela. Moleg amd TIC MAPAKATW EIKOVEG AVIUTPOCWTTEVOUV Ta Tpia Soxeia mou BAEMwVTAC amod mMavw;

I 1 (C) I I i

n I

1 (B) 1
T (E) I

(D) 1 1
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21. What does the object in the picture look like when viewed from above?
Mwc paivetol TO AVIIKEILEVO OTNV EKOVA KATA TNV (poBoAn and navw;

oy
(A) \/- (B) } '/ (©) \> ( (D) \/_\/ (E) \'/

22. Three small squares are drawn inside a big square as shown. What is the length of the segment with
the question mark ?

Tpla pkpd TeTpaywva oxedlalovtal Eca os Eva LeEyANo TETPAYWVO OMwe daivetal.? MNoto sivat To
UNKOC TOU TUAHOTOC HE TO EPWTNUATLKO ?;

22 cm
? 15 cm|
) 28 cm
(A)17 cm (B)17,5cm (C) 18 cm (D) 18,5 cm (E) 19 cm

23. Nine tokens are black on one side and white on the other. Initially, 4 tokens have the black side
upwards. In each turn you have to flip 3 tokens. What is the least number of turns you need to have so
all tokens are showing the same colour?

Evvéa HApKeG elval LoUpeg oTn ia TTAEUPA KAl AEUKEC amo TV AAAN. ApXLKa, 4 LAPKEG £XOUV Laupn
TIAEVPA TIPOC Ao MAVW. e KABe mayvibL mpénel va avaotpePete 3 LAPKEC. MoLog €lval 0 ULKPOTEPOG
TLALLXVLOLWV TIOU TIPETIEL VOL TIAUEETE WOTE OAEG OL LAPKEG Va epdavilouv To 810 xpwa;

00000000

(A1 (B2 (€3 (D)4 (E)5
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24. Which of the following options balances the third scale for sure ?
Mota amo tig akOdAouBeg emhoyEG LooppoTiel Tny Tpitn {uyapld aiyoupa;

O]
NI OO

i
0
I_II_\A/@/\

mﬁm _ ?
(A) ANNAN] e AANO o AOOO

o ALT T T §OOL]

25. Ten people ordered ice cream, one scoop each: 4 scoops vanilla, 3 scoops chocolate, 2 scoops lemon
and 1 scoop mango. The scoops were decorated with 4 umbrellas, 3 cherries, 2 wafers and 1 chocolate
chip, one decoration on each scoop, such that no two ice creams were alike. Which of the following
combinations was NOT served?

Aéka atopa mapayyehay naywto, pia pndAo o kabévac: 4 pndieg Bavidia, 3 UNAAeg cokoAata, 2
UTTAAEG AEUOVL KAl 1 Ao LAvyKo.

Ot umaAeg Atav SLAKOOUNMEVEG UE 4 oumPEAEG, 3 Kepaola, 2 YKODPETEC Kal 1 TouT cokoAdtag,

pla Stakdounon o kKABs umala, £T0L WOTE va PNV UTIAPXoUV dU0 aywTad Ta ida. Molog amnod Toug
napakatw cuvbuaopoug AEN ogpBipiotnke;

T
~ f‘ .

(A) chocolate with a cherry (B) mango with an umbrella (C) vanilla with an umbrella
(D) lemon with a wafer (E) vanilla with a chocolate chip

(A) cokoAdrta pe kepaaot (B) pavyko pe opmpéia (C) BawviAla pe oumpéa

(D) Agpovt pe ykodpeta (E) Baviliav pe Tout cokoAdTag

26. We call a 3-digit number "nice" if the middle digit is greater than the sum of its neighbours.
What is the largest number of successive nice numbers?

OvopdZoupe évav tpupndlo aplBuo «wpaio» av to péco Pndio eival peyaitepo amnod to abpolopa
TWV VELTOVLKWYV Tou. Molog eivat o peyoAUtepog aplOpog SLadoxlkwy «wpaiwvy aplduwvy;

(A)5 (B)6 (C)7 (D)8 (E)9

10
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27. In a chess tournament, Magnus has 15 games to play. Some time during the tournament he has won
half of the games he has played, he has lost one third and two have ended in a draw. How many games
has Magnus still to play in the tournament?

Y€ £V0L TOUPVOU QA OKOKLOU, 0 Magnus €xel 15 matyviSla yla va talgel. e KAmola OTLYUr KATd T SLapKeLa
TOU TOUPVOUQ €XEL KEPSIOEL TOL LULOG TWV TIOLYVISLWV TIOU €XEL TIAEEL, €XEL XAOEL TO £val TPLTO Kal SUo
£xouv teAelwoel pe Loomahia. Mooa mayvidla £xel akopa va maifel o Magnus oto Toupvoua;

(A)2 (B)3 (C)4 (D)5 (E)6

28. Vadim has a square piece of paper divided into nine cells. He folds the paper as shown - overlapping
horizontally, and then, vertically so that the grey square ends on top.

O Bavtip £XeL Eva TETPAYWVO KOUUATL XOPTL XWPLOUEVO OE EVVEA ULKPA TETPAYWVA. AUTAWVEL TO YopTi
onwcg dalvetal - emkaAUTITOVTAC 0pL{OVTLO, KOL OTN CUVEXELD, KOTAKOPUPO £TOL WOTE TO YKpllo
TETPAYWVO VO LELVEL OO TTAVW.

=y

Y

£
Vadim wants to write the numbers from 1 to 9 into the cells so that, once the paper is folded,

the numbers would be in increasing order with number 1 on top layer.

What numbers should he write in the cells of a, b and ¢?

O Bavtip BéAeL va ypael Toug aplBuouc amo 1o 1 €wg To 9 ota PLKPA TETPAYywVA £TOL WOTE, adou To
xaptl Suthwbel, ot aplBuol Ba eival oe avéouoa akoloubia pe Tov aplBud 1 oto mavw otpwpa. Motoug
opLlBUOUC PEMEL va ypAaEL OTA TETPAYWVA e T a, b kaLc;

(A)a=6,b=4,c=8 (Bla=4,b=6,c=8 ()a=5b=7,c=9

(D)a=4,b=5,c=7 (E)a=6,b=4,c=7

11
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29. Don builds a pyramid with balls. The square base consists of 3 x 3 balls:
O Awpog KOTOOKEVALEL Lo Tupapida pe UnaAeg. H tetpaywvn Bdon amoteAeital amo 3 X 3 YNAALC:

IIJ
JIJ
JIJ

The middle layer has 2 x 2 balls, and there is one ball at the top.
To peocaio oTpwpa €XEL 2 X 2 UTTAAEG KOL UTTAPXEL Pl UITAAQ oThV Kopudr).

There is glue at each contact point between two balls. How many glue points are there?
Yrapxel youa os kaBe onpeio emadnig Hetafl SUo unmaiwyv. Nooa onpeia youag undpyxouy;

(A)20 (B)24 (C)28 (D)32 (E)36

30. A large square is divided into smaller squares. In one of the squares a diagonal is also drawn.
What fraction of the large square is shaded?

‘Eva peydho TETPAYWVO XWPILIETOL O PULKPOTEPO TETPAYWVA. X€ £Val OO TA TETPAYWVA YIVETAL EMLONG
pLo Stoywvia. Nolo KOUATL TOU TETPAYWVOU £ival OKLOGUEVO;

4
(A) s

B> (@ (3 (E);

12



